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AMET—TH 218 222 224 446
BHETZTH 370 402 432 834
AMET=TH 572 585 730 1,315
AHETUTE 433 413 512 925
BSHET 367 399 473 872
REFIET—T B 381 386 440 826
REABETZ=TH 4717 451 530 981
RAFIET=T B 651 560 650 1,210
EFET—THB 310 316 352 668
TFETZTH 274 277 305 582
EEET—TB 429 390 480 870
EfEETZ=TB 425 390 468 858
EFSEET—TH 374 368 446 814
EERT=TH 326 316 353 669
EEE—TH 175 179 186 365
EEEZTH 332 328 378 706
HFEE=TH 440 472 545 1,017
EEEETB 411 436 480 916
BSET—TH 303 290 332 622
BEET=TH 494 436 556 992
HEET=TH 468 523 604 1,127
AEETET B 658 726 793 1,519
WEET—TH 339 334 344 678
WERETZTH 228 211 223 434
BWEET=TH 399 349 324 673
WEATMT B 437 403 497 900
WEETRETH 550 501 595 1,096
KFET—TBE 128 112 131 243
AXFEHTZTH 369 348 396 744
KFET=TH 200 184 202 386
HIEET—TH 378 366 383 749
MEET-TH 404 417 477 894
FHREE—TH 165 136 182 318
FHREEZTH 191 168 199 367
FHKEBE=TH 208 175 200 375
FHREBTET B 107 97 94 191
FREEATHE 112 85 108 193
AET—TH 334 305 361 666
AETZ—TH 141 138 154 292
ABET=TH 240 223 233 456
FET—TH 534 518 609 1,127
*=ET-TH 739 652 713 1,365
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=AET—TH 354 331 353 684
=AET=TH 305 266 269 535
ZHHET—TH 337 344 396 740
ZHET=TH 241 266 273 539
ZFHET=TH 552 562 635 1,197
ZAETMTH 489 469 526 995
XN EET—TH 759 860 942 1,802
XIRETZTH 510 573 595 1,168
7N ET 2,412 2,847 2,974 5,821
NEET—TB 278 317 357 674
NERTET B 53 54 68 122
X JIIET 749 817 885 1,702
XRE—TH 807 886 947 1,833
XRETZTH 631 740 795 1,535
XRET=TH 704 844 914 1,758
XRETETH 472 498 585 1,083
MHET—TH 665 678 639 1,317
EET=THE 907 965 1,033 1,998
HET=TH 932 903 955 1,858
FEEmTH 508 496 552 1,048
#RHS BT 365 426 493 919
FHARITERN) 28,121 28,729 31,880 60,609
e BET 662 785 838 1,623
1 SET 186 228 239 467
EiEHT 449 593 571 1,164
FERT—TH 417 438 439 877
HER=TH 433 424 538 962
BHEE=TH 653 733 747 1,480
SHEETMNTH 354 434 417 851
1% FRHET 363 477 500 977
T BET 197 293 310 603
= HhET 168 226 202 428
iz 700 996 998 1,994
e 293 346 351 697
ILEBT—TB 988 1,157 1,151 2,308
IWFRT=TH 534 624 671 1,295
R N ET 268 429 417 846
BREHT 543 772 824 1,596
[L#EBT—TH 906 946 1,055 2,001
[LEET=TH 1,580 1,602 1,889 3,491
[LEBT=TH 1,390 1,311 1,568 2,879
FH(ENER#X) 11,084 12,814 13,725 26,539
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/N HHET 292 384 381 765
TEFHT 190 290 281 571
S EET 538 749 803 1,552
ESJCRRET 293 365 378 743
FrYEHT 544 907 933 1,840
T FA] R ET 119 162 192 354
JIALET 245 326 352 678
{8 FLET 56 86 83 169
B ALET 112 141 149 290
TJIET 779 902 948 1,850
T CFIER#TE) 3,168 4,312 4,500 8,812
g R ET 357 484 517 1,001
/Nt BRET 193 274 268 542
i SUET 223 281 294 575
FHT 376 480 502 982
5 T 592 795 858 1,653
INRF-ET 654 900 924 1,824
ZEHT 306 427 418 845
& FLET 209 214 229 443
=iEE—TH 311 355 382 737
={tA=TH 625 700 759 1,459
FTCAE#X) 3,846 4910 5,151 10,061
={RET—TH 725 771 846 1,617
=RETZTH 528 561 614 1,175
=RET=TH 668 731 808 1,539
SEIZAT 551 623 600 1,223
L hET 285 415 393 808
T RET 507 565 607 1,172
A EE—TH 415 482 492 974
AFBEETZTH 912 928 1,049 1,977
A EEI=TH 511 592 541 1,133
BRI TH 508 544 480 1,024
A EETRTH 580 611 609 1,220
R EHET 673 858 882 1,740
L SRET 1,902 2,357 2,459 4,816
A REHET 100 125 137 262
B RET 674 721 854 1,575
$i EET 465 602 625 1,227
¥E 2 THT 331 402 456 858
1R ET 606 874 946 1,820
ST RHET 1,242 1,411 1,488 2,899
FTEEHRX) 12,183 14,173 14,886 29,059
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5 HET 2,208 2,760 2,937 5,697
1% ZRHET 245 320 338 658
B S EHET 586 733 703 1,436
AIFEEBET=TH 165 221 243 464
JIEhET 881 997 1,028 2,025
R 1T R ET 524 629 709 1,338
T T HET 1,441 1,797 1,929 3,726
L FrEHET 1,410 1,680 1,740 3,420
INE AT 961 1,065 998 2,063
INBARET—TH 155 153 180 333
=il 570 559 510 1,069
BahE—TH 678 680 693 1,373
JLHHET 935 1,113 1,087 2,200
EIRASEHT 115 131 133 264
St hS BT 348 380 365 745
AFIRET—TH 648 710 807 1,517
AFIRETZTH 584 643 739 1,382
HTRIASHT 359 324 345 669
BHEMET 215 277 293 570
T (RX) 13,028 15,172 15,777 30,949
JTHARLET 3,226 3615 3,609 7,224
TTHRHET—TH 414 469 517 986
TTIRMET=TH 475 478 518 996
TTHRHET=TH 51 62 65 127
ARET—TBH 228 224 215 439
ARBIZTH 585 623 614 1,237
ARET=TH 333 357 343 700
KEB—TBE 266 260 282 542
KEBTZTH 2 1 1 2
AHEHT 31 29 38 67
AEET—TH 170 186 204 390
BR2ETZTEH 181 163 201 364
AEEI=TH 156 159 156 315
ARETETE 217 228 225 453
AEETRATH 255 246 314 560
5 IET 630 687 471 1,158
THEEHE 398 402 439 841
FEET—TH 58 37 43 80
MEET=TH 283 233 244 477
T (TettihX) 7,959 8,459 8,499 16,958
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attET#a%L 2,025 2,352 2,357 4,709
HettBT—TB 26 25 24 49
WHET—TH 337 345 321 666
HHET=TB 248 269 288 557
BHETET B 135 166 148 314
Rt ETHE R 1,331 1,604 1,693 3,297
RHBETEH 321 337 360 697
=HET—TH 499 568 576 1,144
BB R 385 495 491 986
T (st X) 5,307 6,161 6,258 12,419
L+ HAHET 1,050 1,333 1,363 2,696
B 1,747 2,177 2,275 4,452
e X B ET 1,283 1,463 1,598 3,061
T/NHET—TH 442 451 471 922
T/INHETZTH 993 944 958 1,902
T/INHET=TH 461 438 457 895
E/NHET—TH 573 645 645 1,290
F/PNHETZTH 661 667 705 1,372
F/NHET=TH 687 740 745 1,485
BERK<FET 729 839 819 1,658
HHET 2,049 2,394 2,463 4,857
ik gl 903 906 1,016 1,922
mHET—TH 574 683 704 1,387
RKET=TH 613 682 695 1,377
RMET=TH 216 237 249 486
FRETET B 177 213 191 404
B & <F AT 214 256 286 542
It T 41 58 58 116
z:fm]:is) 883 1,061 1,132 2,193
RE4RET 254 264 286 550
FE4RET—T B 188 239 260 499
BEiRET=TH 407 517 514 1,031
BEIEET=T B 506 565 559 1,124
JI R BT 126 125 145 270
JNRET—TH 470 571 611 1,182
JNEBT=TH 362 465 486 951
P AR HT 753 689 967 1,656
it (Pt X) 17,362 19,622 20,658 40,280
i BT 229 324 329 653
L+ EEFHET 168 242 239 481
HFEFET 802 983 1,086 2,069
Mgl 203 242 262 504
FTCERHX) 1,402 1,791 1,916 3,707
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XK SHT 1,208 1,333 1,347 2,680
XINKSBE—TH 454 477 531 1,008
XINKSETZTH 415 444 478 922
KINKSET=TH 800 869 843 1,712
L XEHT 724 935 979 1,914
= EHT 199 263 277 540
L+ RBEET 256 308 337 645
B EPHET 115 137 140 277
Eadesliiy) 438 548 555 1,103
T RBEHET 218 313 311 624
/B R ET 138 198 191 389
b 2,873 3,463 3,582 7,045
TREBET 1,227 1,465 1,567 3,032
T GKEAH#IRX) 9,065 10,753 11,138 21,891
TREET 216 309 304 613
SRIRHET 286 421 389 810
= HHET 690 985 975 1,960
FTOHT 360 510 524 1,034
SiFHET 502 720 744 1,464
75K =HT 540 711 703 1,414
K=Y 249 335 329 664
B+ FHET 258 377 362 739
FFHET 96 139 143 282
ZZ = 986 1,382 1,360 2,742
S FHET 240 361 343 704
X FHET 383 546 554 1,100
INERET 608 791 812 1,603
L HEERET 529 621 655 1,276
T & B ET 329 452 469 921
EENNET 564 756 790 1,546
T (EFa b X) 6,836 9,416 9,456 18,872
K EAHET 640 733 833 1,566
X KHT 1,412 1,857 1,849 3,706
YRR HT 1,466 1,968 1,987 3,955
&R ET 437 634 608 1,242
FETEHT 543 784 811 1,595
HEALET 169 199 229 428
S [ BT 526 724 758 1,482
b T 1,128 1,445 1,579 3,024
L XREHT 414 559 524 1,083
FH(RHHX) 6,735 8,903 9,178 18,081
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SERMET 898 1,336 1,393 2,729
HHEHT 588 804 854 1,658
i 2 BEET 234 361 348 709
=RRHET 105 120 119 239
|y SHT 366 558 600 1,158
5 15T 166 271 249 520
A HiTEHHET 475 680 687 1,367
FH(EEHX) 2,832 4,130 4,250 8,380
FAJET R Z R 105 112 110 222
FHINETZER 185 273 271 544
FaJIET A H 395 563 595 1,158
FHIETREER 137 206 193 399
RET#T E 409 573 574 1,147
FNELAE R 625 857 836 1,693
FHBTRE 578 890 878 1,768
)BT 233 696 1,030 1,025 2,055
#)IBTFREE 189 230 266 496
FIETRIE R 52 74 78 152
)BT LR B 56 89 98 187
)BT FRET 42 76 73 149
fANET—HTH 36 66 54 120
)BT R 142 202 197 399
#4)1 BT BE 291 413 390 803
SHCGRNHREX) 3,938 5,654 5,638 11,292
EXTRETHS 337 449 442 891
ELTRET5IH 84 124 107 231
ETRETHEE 289 449 461 910
E 1T RET[RZHE 1,413 1,973 1,921 3,894
ETRET/NR 385 523 553 1,076
E LT RETKEF 329 521 551 1,072
=+ RETEFR 1,871 2,684 2,632 5316
ETRE/NE 1,694 2,383 2,404 4,787
ELRETAH 939 1,378 1,373 2,751
ELTRETRE 112 171 166 337
ETRETHZ KIS 85 133 134 267
ELRETLAO 76 104 117 221
ETRETEIR 202 311 305 616
=1 RETFREIL 318 382 370 752
H(ELXRX) 8,134 11,585 11,536 23,121
& it 141,000 166,584 174,446 341,030




